
Here's an example: 
 

 
 

4422 −=−++ yyxx  
 

4
4
1424

2
1 22

2
2 ++−=+−+






++ yyxx  

 

( )
4
12

2
1 2

2

=−+





 + yx  

 

This is a circle, of radius 
2
1

4
1
= , centered at (-1/2, 2) 

 
When you graph it, you see that it JUST touches the y-axis at (0, 2) 
 
Here's the one you asked about: 
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This is a circle of radius 
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3 .  It just barely touches the y-

axis at ( )2,0 − .  Circles that touch in two or more spots can be more involved, but these 
two aren't that involved.  You get the intercepts just by correctly drawing the circle. 


